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45° W/t,
W/t,
V2
Vi
m/s — - — p — n n
2500m/s 5000m/s 7500m/s 10000m/s
0 0 0 0 0
1000 0. 295 0.143 0.0947 0.0709
2000 1.37 0.59 0. 384 0. 286
3000 4. 81 0. 764 0. 885 0.651
4000 — 2.74 1.63 1.18
5000 — 5. 00 2.67 1. 89
6000 — 9.62 4.12 2. 81
7000 — 49. 00 6. 15 3.99
8000 — — 9.19 5.49
9000 — — 14. 43 7.43
10000 — — 28.3 10. 00
A.18.5
o x s
ur L
UL tr
1—2(vy /v)?
A, 18 5 :6:#
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Vr 1—26
A. 18 s i—=A/55—=<A. 18.5.3
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. ) . VE — E//pa ,E
< \ v
50 ’ vt = (I,/p7 G ’ : V:; =
V2(1+6)
B
( )
B. 1
kg/m? m/s X10%in/s m/s X10%in/s
2700 6300 250 3130 124
1850 12400 4188 8650 340
9800 2180 85 1100 43
8100 4370 173 2100 83
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kg/m? m/s X10%in/s m/s X10%in/s
8860 3530 139 2230 88
8600 2780 109 1500 59
8580 4950 194 2180 85
8900 4700 185 2260 88
19300 3240 127 1200 47
1130 3860 152 2180 82
8250 5720 225 3020 119
( ) 7900 5960 235 3220 128
C 7200 3500~5600 138~222 2200~ 3200 87~131
11400 2160 85 700 27
10900 2160 85 810 32
1740 5740 227 3080 122
8830 6020 237 2720 107
8800 5630 222 2960 118
( ) 1180 2670 105 1120 44
21450 3960 155 1670 65
2200 5930 233 3750 148
10500 3600 141 1590 62
8750 4620 182 2320 91
(347) 7910 5790 226 3100 122
(410) 7670 5900 232 3300 130
7700 5900 232 3230 127
7300 3320 130 1670 65
4540 6240 245 3215 126
19100 5460 214 2620 103
18700 3370 133 1930 76
7100 4170 164 2410 94
6490 4310 169 1960 77
B.2
kg/m? % m/s m/s
i MHz MHz
3190 12180 7680
3100 99+
a 2000 11182 20 7510 20
2900 90 11020 6950
3660 9850 5900
3700 102007 5890°
3700 o 9970° °0 5910b-¢ 20
3700 9970" 5910bd
5700 7040 3720
5680 o 7050 50 3760 10
HIP 3200 99+ 10800 50 6010 10
30%SIC 3200 99+ 10800 50 6250 20




kg/m? % m/s m/s
MHz MHz
20 % SIC 2490 77 7600° 5 47007 5
43008
YBa; Cuz O7—«( ) 5940 93 5120 20 3040 5
a. o
b. o
c. .
d. B
€. °
f. o
g. B
C
( )
C. 1
C m/s X 10%in/s C m/s X 10%in/s
15.0 1470. 6 57. 89 20. 2 1483. 6 58. 40
15.2 1471.1 57.91 20.4 1484. 1 58.42
15.6 1472.1 57.95 20.8 1485.1 58. 46
15.8 1472. 6 57.97 21.0 1485. 6 58.48
16.0 1473. 1 57.99 21.2 1486. 1 58. 50
16. 4 1474.1 58.03 21.6 1487.1 58. 54
16. 6 1474.6 58.50 21.8 1487. 6 58.56
16. 8 1475. 1 58.07 22.0 1488. 1 58.58
17.0 1475. 6 58.09 22.2 1488. 6 58. 60
17.2 1476. 1 58.11 22.4 1489. 1 58.62
17. 4 1476. 6 58.13 22.6 1489. 6 58. 64
17.6 1477. 1 58.15 22.8 1490. 1 58. 66
17.8 1477.6 58. 17 23.0 1490. 6 58.68
18.0 1478.1 58.19 23.2 1491.1 58.70
18.2 1478. 6 58.21 23.4 1491. 6 58.72
18.4 1479. 1 58.23 23.6 1492. 1 58. 74
18.6 1479. 6 58.25 23.8 1492. 6 58.76
19.0 1480. 6 58.29 24.2 1493.6 58. 80
19.2 1481. 1 58. 31 24,4 1494. 1 58. 82
19.4 1481. 6 58. 33 24.6 1494. 6 58. 84
19.6 1482. 1 58.35 24.8 1495.1 58. 86
19.8 1482.6 58. 37 25.0 1495. 6 58. 88
20.0 1483. 1 58. 38




